AyeFstol Uehw?

=
=

x+3+bE UHTA7S -



o, x o Al 4

SH
=

]

S

(6x—4) —2(4x + 3) = et

2.

@ -12 ® -13 @ -14 ® -15

O -11



2
—— -x

-5 oA
o, a+b+c 2 &

X

A
=

L,
__oo

o}

3.

2

St ?

.ZF_

o
=

St
=

c 2



O x?



5.

7429 Zol7t acm, A2 Aol7t bemd) TS T UF A4S
oF& 193} o] e 3 S oj], U ojzje] Ee] dol?

® (a+b+10)cm @ (2a+ 2b+10)cm
® (a+b+30)cm @ (2a+ 2b+20) cm

® (2a+2b+40) cm



6. x=-2,y=4L 0, —x%-xy 9] 32?

O -12 @ -4 @0 @ 4 ® 12



she?

:,7_

O
=

St
=

o, a—b 9

® 3






9. 08 F 71 x, « 9 Aol $ AL
D xxyXyXx=xxyy
@ axcxexex(-1) = -lac®

® ax (3x-6y) = a(3x - 6y)

5
@ xxy+5=fx

y
3+4+a

3 +9=
® 3+a 9




ol
N
or

RelESY

ISR EA]

—

0
—

a=2,b=-

10.

® 2 @0 ® 3

@ 10






@0

— |

@1

™M

O 2



el 7

o
ol

@
-12
® 10
@
7

O -16



Az A Had A<

]4.x:§@mﬂwgiﬂﬂf4%%%%
7=2H?
H7]
& ©-r ©e-- e2 o-
X X
D ® @, 0,0, 6 ® ® 0,0, 6 0
® ® 0, 06,6,0 @ ® 0, 0,0,0

© 866,006



P2k o] W, ab ©f 27

5

b 2}

® 10

@ 4

@ -6

O -12



